A HEHET2022E R =% LW E - XRZHEE LS R (S8
1.
Eld=(xeN|x23, B=(x|x*-4220}, Wi~z ( )

A{123  B{12y <3 D(34]

2.

Foza <0, MITHERAEHPLZ C )

1 1
_.\;:_
Az & Buab»a® Clal+lb|a+b] D3z <ifp

3.
T RBHHE AR, HAER ERFEMPR \( )

ASx=2 B A= x C.Afx=ln|x| D.JF(x)=e"

4.
%%%ﬁﬁﬂ{an}ﬁgﬁﬁnjﬁﬁﬁ&; %a3=2’33=3’ Ijl\uaﬁz( )

A4 BS C.10 D.IS

2x
BaEs Do g eme2, W e =( )

1
AR B.-I CO0 D¢z

2 .
Bl #5  mr O g MEN G g 2 b, Eab=be,Mac. T
FIERIRE ()

A.—-rpng B.rpvg C.pr—g D —pi—g

7.

1

05
%a=(3] y b=3", o=, WaboFRPKER C D

Abzcza Berazdk Coeozbza Dazcxbd



